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Percentuali di numeri ( numero mancante )

x 80% = 12.8

x 80% = 78.4

x50% =5

x70% = 29.4

x30% = 2.1

x 80% = 66.4

x 10% = 7.6

x20% =174

x20% =17.8

x 20% = 18.6
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Data:

x 50% = 47

x 80% = 24.8

x90% = 9.9

x 50% = 19

x 40% = 13.6

x 60% = 58.2

x 10% = 8.1

x 30% =204

x 30% = 20.1

x 20% = 4.4

Punteggio:
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Percentuali di numeri ( numero mancante )

Nome:

16 x 80% = 12.8

98 x 80% = 78.4

10 x50% =5

42 x70% = 29.4

7x30% = 2.1

83 x 80% = 66.4

76 x 10% = 7.6

37 x20% =74

89 x20% = 17.8

93 x20% = 18.6

Data: Punteggio:

94 x 50% = 47

31 x 80% = 24.8

11 x90% = 9.9

38 x 50% = 19

34 x40% = 13.6

97 x 60% = 58.2

81 x 10% = 8.1

68 x 30% = 20.4

67 x 30% = 20.1

22 x20% =44
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